ANT1ERIRLIUUS SN lASUIRaTIHaZS19azanaA1 LTRne
o/ &' o/ la [} [
A15AnToINANTIY91unads1e

LUY UnN.ob

a w .&' A 1 -4 L L 1 =T

. Yolasein1sinteezvalraamuul 120428 93080uT ULTRAJET 34 305 138 .00l
. AN CEALP™
310U me, NS T .-

—— e e



Jy¥srensuuuiing

semsaezlvaiaTosmiull ¥31-918 n518nYs ULTRAJET U 305 139 4.162 $11u 31 519M3

a410Y 518115 P/N 1| wuetdu [s1atsienidieg|  51A159U RagLie
1 |STEERING LEVER 8700-033-004 2 EA 37,020.00 74,040.00
OUTBOARD
2 (M8 STUD 8730-058-55S 10 EA 560.00 5,600.00
3 [M10 STUD 8731-048-SSM 4 EA 620.00 2,480.00
4 [M12 STUD 8732-050-55C 4 EA 600.00 2,400.00
5 |SEALPLATE 8978-018-009 2 EA 3,220.00 6,440.00
6 |TRANSOM O-RING 8978-030-00W 2 EA 4,490.00 8,980.00
7 |GASKET 8978-031-00T 2 EA 1,700.00 3,400.00
8 |GASKET 8978-043-00E 2 EA 530.00 1,060.00
9 [MAGNESIUM CONE ANODE | 8700-039-009 2 EA 9,730.00 19,460.00
10 [MAGNESIUM ANODE 8729-927-00X 2 EA 2,750.00 5,500.00
CASTING
11 |[MAGNESIUM ANODE 8978-927-00C | 4 EA 10,880.00 | 43,520.00 | \HundnSaueiindn
CASTING PNFNYTBINA
12 |IMAGNESIUM ANODE 8700-086-00R 4 EA 2,500.00 10,000.00
13 |FLANGED BUSH 8985-054-00J 4 EA 1,710.00 6,840.00
14 M8 S/LOCKING NUT 9145-179-00) 20 EA 30.00 600.00
NYLON INSERT
15 [M10 S/LOCKING NUT 9145-180-00L 36 EA 50.00 1,800.00
NYLON INSERT
16 [M12 S/LOCKING NUT 9145-181-00G 2 EA 90.00 180.00
NYLON INSERT
17 [M12 NORMAL NUT A4-70 9145-411-004 a8 EA 60.00 2,880.00
18 [SNAP RING ST/ST 9213-302-SSE 2 EA 110.00 220.00
19 |M10 VIBRATION PROOF 9222-605-000 48 EA 150.00 7,200.00
WASHER NL loss




allﬁ'ﬂ 518013 P/N U | wetu [s1ansiendle|  $1A15IU N80
20 |M10 ST/ST PLAING 9223-261-00C | 48 EA 20.00 960.00
WASHER (FORM A)
21 |0 - RING 4420300 9322-726-009 2 EA 270.00 540.00
22 |0 - RING 400400 9327-017-00H a4 EA 190.00 760.00
23 |0 - RING 10000400 9327-018-00D 2 EA 150.00 300.00
24 [0 - RING 1400400 9327-019-009 2 EA 520.00 1,040.00 . .
25 10 - RING 17900400 9327-023-00U 2 EA 340.00 680.00 (Do Apusifisin
ANANUTEINA
26 |0 - RING 5500250 9329-037-00N 2 EA 300.00 600.00
27 |SHAFT SEAL 9411-459-006 4 EA 5,920.00 23,680.00
28 [SHAFT SEAL 9411-461-004 2 EA 2,570.00 5,140.00
29 [RUISH 3N20FP 9°21-4R71-(10M 4 FA 1,81000 7,24000
30 [BUSH 8700-048-00Z 2 EA 5,210.00 10,420.00
31 (@50 MECHANICAL SEAL 9470-050-0B3 2 EA 50,880.00 | 101,760.00
37| 355,720.00
AByaARY 7%|  24,900.40
saufuiRu 380,62040 |
anuuauwlaniiunndosdavumaauanied




